
B2B Partner s.r.o. Tel: 800 700 700 http://www.b2bpartner.cz  
 

Instrukcja montażu mobilnego wózka warsztatowego 
Numer katalogowy: 441006, 441007 

 

 

 Nazwa części  Ilość 
1 Półka 3 
2 Pionowy profil 4 
3 Uchwyt 1 
4 Koła obrotowe 2 
5 Stałe koła 2 
6 Śruba M8x12 16 
7 Nakrętka M8 16 
8 Podkładka pr. 8 16 
9 Śruba M6x10 48 

10 Nakrętka M6 48 
11 Podkładka pr. 6 48 

 

http://www.b2bpartner.cz/

